C:# Multiplying Unit Fractions with Numberline Name:

Use the numberlineto solve. Answers
1) 0 1 2
A —4——+—+—+—t—+—+—+—+——t++ 1
2.
2) 1 0 1 2 3 4 5
GXE: 4ttt 3
4,
3) 0 1 2
1Ly 44—t F 5
5
6.
4) 0 1 2 3 4
10x 5= 7
8.
5) 0 1
%6: 4 | | | | | | > o
10.
6) 0 1 2 3 4
Zx5=  4——F—+—F—+—F+—+—b
7) 0 1 2 3
%x4= 44—ttt
8) 0 1 2 3 4 5
Zx2=  4————t——+—+—F+—P
9) 0 1
l | | | | | | | | | | | | | | |
—_— < | | | | | | | | | | | | I>
5 10 ]
10) 0 1 2
1. 4+—+—+—+—+—+++t+—++++++t+n
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C:# Multiplying Unit Fractions with Numberline Name:

Use the numberline to solve. Answers
1Y, 1o 17, 17,
2 5 0 0 1
7 7. 1%, 3%,
27, 27, 2
1) 0 1 2
L. ¥—~—+—+—+—+—++—+—+++++» >
4,
2) 0 1 2 3 4 5
6x>= $—————+——+—F—+—F—» 5
6.
3) 0 1 2
x7= ¢ ——————» ;
4) 0 1 2 3 4 .
10x%: 4—+——t——+—t+——+F+—+—+++» .
5) 0 1 10
%x6: 4 : : : | : : >
6) 0 1 2 3 4
1 ¢—H—F—+—F+——++ b
7) 0 1 2 3
Sx4= ——————t———1
8) 0 1 2 3 4 5
Zx2=  4—————————P
9) 0 1
1 | | | | | | | | | ] | ] ] ] ]
—_— = < | | | | | | | | | | | | |>
5 10 I
10) 0 1 2
1. ¢+——+—+—++—+t++++—+++++bm
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